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QUESTION 1

Which two commands does an NSX administrator use to check the IP address of the VMkernel port for the GENEVE
protocol on the ESXi transport node? (Choose two.) 

A. esxcfg-vmknic -1 

B. esxcli network ip interface ipv4 get 

C. esxcli network nic list 

D. net-dvs 

E. esxcfg-nics -1 

Correct Answer: AD 

 

 

QUESTION 2

Which three steps are required to create an IPSEC VPN tunnel? (Choose three.) 

A. Create an IPSec service. 

B. Configure a distributed firewall policy. 

C. Configure a Tier-1 Gateway. 

D. Add a local endpoint. 

E. Configure an IPSec session. 

F. Add a logical switch. 

Correct Answer: ADE 

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-
Center/2.4/administration/GUID-310E87014A97-459E-8B81-1C567D579007.html 

 

QUESTION 3

An NSX administrator is planning to deploy a multi-tier routing topology in their NSX-T Data Center environment to
provide north-south connectivity for the VMs. 

Which routing component must be deployed? 

A. Tier-0 Gateway 

B. Edge Node 
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C. Tier-1 Gateway 

D. Edge Cluster 

Correct Answer: C 

 

 

QUESTION 4

What is the most restrictive NSX-T built-in role which will allow a user to apply configuration changes on a NSX Edge? 

A. Network Operator 

B. Network Engineer 

C. Cloud Service Administrator 

D. NSX Administrator 

Correct Answer: B 

Reference: 

https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.4/administration/GUID-26C44DE8-18544B06-B6DA-
A2FD426CDF44.html 

 

QUESTION 5

Which port is used by a transport node to communicate with NSX Manager in NSX-T Data Center 2.4? 

A. 5671 

B. 1234 

C. 1235 

D. 5678 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.4/nsxt_24_install.pdf 
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